
IN230600411V01_GL

D30-741V00



1



2

①  1 ②  1 ③  1 ④  1 ⑤  1 ⑥  1

⑦  1 ⑧  1 ⑨  1 ⑩  2 ⑪  2 ⑫  1

⑬  1 ⑭  1 ⑮  1 ⑯  1 ⑰  1 ⑱  8

⑲  1 ⑳  1 ㉑  1

A 29
M8*35

+2(spare)

B 3
M8*80

C 1
M8*27

D 2
M10*25

E 1
M4.8*30

F 1
M6

G 1
M5*30

H 1
M5

300*300 450mm 520mm

310*310



3

AX8

AX8

AX4

A
A A

A

A A

A A

⑦

⑥

㉑

⑱
⑱⑱

⑱

⑩

⑩

⑪ ⑪

A
A

A

A
①

A

A

A

A

A

A A

A

④

⑳

③

⑱

⑱

⑱

⑱

03

02

01



4

AX2
BX2

AX2
CX1
DX2

AX4
BX1
EX1
FX1
GX1

⑬ ⑫

⑳

③
②

⑲

B
B

B
B

A
A

A A

A
A

B

⑮
⑭

⑤

⑯

E F G

A D

A
D

C

⑧㉑

⑥

04

06

05



5

⑰

⑨

⑰

⑨

⑰

⑨

A

AX1

Done

07



6



7


